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56. 9% of the peoples are eligible in a town to vote. Out of which only 80% voted. What percent of
people actually voted? Adobe Send @
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‘What is the smallest four digit number which when decreased by the largest two digit number is
exactly divisible by 15, 20 and 25?7
(A) 1297 (B) 1199
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Mathematics

Straight Objective Type

Mathematics contains 13 multiple choice questions numbered 51 to 63. Each question has 4

choices (A), (B), (C) and (D), out of which ONLY ONE is correct.

51. In given figure, if AX=5 cm, XD=7 cm, CX =10 cm, find BX.

AB
m‘ p
N =

(A)3cm

(B)3.5em
(C)4cm

(D)4.5cem

In AABC , the medians BE and CF intersect at G. AGD is a line meeting BC at D. If GD= 1.5 cm,

then AD is equal to
(A)2.5em

(B)3cm
(C)4cm

(D)4.5cm

Base and altitude of a parallelogram are reduced by 50% each, then the area reduces by

(A) 75%

(C) 50% e

(D) 12.5%

In the following figure, if ABCDEF is a regular polygon, then the sum of angles at the vertices
(£P+£Q+ZR+ 48+ LT+ ZU+ £V) is equal to
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53.

55.

A)25cm ®)3cm
(C)4cm (D)4.5cm

Base and altitude of a parallelogram are reduced by 50% each, then the area reduces by
(A) 75% (B)25%

(C) 50% (D) 12.5%

In the following figure, if ABCDEF is a regular polygon, then the sum of angles at the vertices
(£P+£2Q+ ZR+ £S+ LT+ ZU+ £V) is equal to

(A) 1800° (B) 540°
(C) 900° (D) 720°

In the given figure, value of y is
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